Dessert

NEWES Drinks Dessert

2 >
[ © < (]
Q s|lojlaolTs |8 |2
Slo|G|S|2128|w® |2 o
%) >l e|le|8|lalald|= e
= s|ElS|o|E|2|l2|g|8|g|8]|8
slE|El5lelelelslslE|e|s|5]E
L| ¥ 3J|NJo|oS|]o|lo|lolae|lo| | ala
$5.99
$6.99
$7.99
$8.99
$9.99
bread pudding .
Logic Puzzles
cheesecake
Presented by Puzzle Baron
creme brulee
: Puzzle ID: JO67JF
parfait For hints, solutions and more puzzles, go to
. www.Printable-Puzzles.com!
profiterole
cafe americano Prices Names Drinks Dessert
cafe latte $5.99
$6.99
cafe mocha
$7.99
cappuccino $8.99
earl grey tea $9.99

8.

9.

. The diner who ordered the creme brulee didn't have the earl grey tea..

. Kim was either the diner who ordered the creme brulee or the diner who ordered the parfait..

. The person who paid $9.99 didn't have the cafe latte..

. Francis didn't have the cafe latte..

. Zachary paid $8.99..

. The diner who ordered the parfait didn't have the earl grey tea..

. Of Zachary and the diner who ordered the bread pudding, one paid $7.99 and the other had the cafe mocha..

The diner who ordered the profiterole paid 1 dollar less than Claudia..

10. The diner who ordered the creme brulee didn't have the cappuccino..

11. Claudia didn't order the creme brulee..

12. The diner who ordered the bread pudding didn't have the earl grey tea..
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Of the diner who ordered the cheesecake and Francis, one paid $7.99 and the other had the cafe mocha..




